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Note : Q. No. 1 is compulsory. Attempt any four questions

from the remaining eight questions.

iz'u la[;k 1 vfuok;Z gS A 'ks"k vkB iz'uksa eas ls dksbZ

pkj iz'u dhft, A

1. (i) What is Target Costing ? 4

y{; ykxr vadu D;k gS \

(ii) Discuss the scope of Management Accounting. 4

izca/dh; ys[kkadu ds {ks=k dk o.kZu dhft, A

(iii) Enumerate the classification of Responsibility

Centres. 4

mÙkjnkf;Ro dsUnzksa dk oxhZdj.k dhft, A

(iv) Define Budget. 4

ctV dks ifjHkkf"kr dhft, A

(v) Explain any four advantages of Total Quality

Management. 4

dqy xq.koÙkk izcU/u ds fdUgha pkj ykHkksa dk o.kZu

dhft, A



2. Define Responsibility Accounting. Explain the main steps

involved in Responsibility Accounting. 5+10

mÙkjnkf;Ro ys[kkadu dh ifjHkk"kk nhft, A mÙkjnkf;Ro ys[kkadu

ds vUrxZr mBk, tkus okys dneksa dh O;k[;k dhft, A

3. Define Management Accounting. State its nature and

significance. 3+6+6

izcU/dh; ys[kkadu dks ifjHkkf"kr dhft, A bldh izÑfr ,oa

egÙo crkb, A

4. Define Standard Costing. Discuss its advantages and

limitations. 3+6+6

izeki ykxr fof/ dh ifjHkk"kk nhft, A blds ykHkksa o lhekvksaa

dk o.kZu dhft, A

5. What is Cost Control ? Discuss its process and techniques.

3+6+6

ykxr fu;U=k.k D;k gS \ bldh izfØ;k vkSj rduhdksa dk o.kZu

dhft, A

6. “The technique of marginal costing can be valuable aid

to management.” Discuss. 15

¶lhekUr ykxr rduhd izcU/dksa ds fy, ewY;oku gks ldrh

gS A¸ foospuk dhft, A

7. Define Budgetory Control. Discuss its advantages and

limitations. 3+6+6

ctVjh fu;U=k.k dh ifjHkk"kk nhft, A blds ykHkksa o lhekvksa dh

ppkZ dhft, A
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8. The following informations relates to a manufacturing

process of a company : 15

Number of employees 150

Weekly Hours 30 hrs.

Standard Wage Rate 50 paise per hour

Standard Output 200 units per hour

During the first week of February, 8 employees were paid

at 45 paise per hour and 2 employees @ 55 paise per

hour. The rest employees were paid at standard rates. Idle

time is one hour per employee. Actual output was 6250

units. Calculate labour variances.

fuEufyf[kr lwpuk ,d dEiuh dh fuekZ.kh izfØ;k ls lEcfU/r

gS %

deZpkfj;ksa dh la[;k 150

lkIrkfgd ?k.Vs 30 ?k.Vs

ekud etnwjh nj 50 iSls izfr ?k.Vs

ekud mRikn 200 bdkb;k¡ izfr ?k.Vs

iQjojh ds izFke lIrkg esa 8 deZpkfj;ksa dks 45 iSls izfr ?k.Vs dh

nj ls vkSj 2 deZpkfj;ksa dks 55 iSls dh nj ls Hkqxrku gqvk A

'ks"k deZpkfj;ksa dks ekud nj ls Hkqxrku gqvk A csdkj le; izfr

deZpkjh ,d ?k.Vk gS A okLrfod mRiknu 6250 bdkb;k¡ gSa A Je

fopj.kksa dh x.kuk dhft, A
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9. A company has two similar plants and company wants to

merge these two plants. The following particulars are

available :

Plant I Plant II

Capacity in Operation 100% 60%

Sales Rs. 3,00,000 Rs. 1,20,000

Variable Cost Rs. 2,20,000 Rs. 90,000

Fixed Cost Rs. 40,000 Rs. 20,000

Calculate :

(i) Capacity of merged plant to be operated for the

purpose of Break-even point.

(ii) What would be profitability on working at 75% of

merged capacity ? 15

,d dEiuh ds ikl nks la;a=k gaS vkSj dEiuh bu nksuksa la;a=kksa dk
,dhdj.k djuk pkgrh gS A ftldk fooj.k bl izdkj gS %

la;a=k I la;a=k II

lapkyu {kerk 100% 60%

foØ; Rs. 3,00,000 Rs. 1,20,000

ifjorZu'khy ykxr Rs. 2,20,000 Rs. 90,000

LFkk;h ykxr Rs. 40,000 Rs. 20,000

x.kuk dhft, %

(i) le&foPNsn fcUnq ds fy, ,dhÑr la;a=kksa dh lapkyu

{kerk A

(ii) 75% ,dhÑr lapkyu {kerk ij dk;Z djus ls ykHk

dh jkf'k A
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